Edexcel legacy specification paper 2 (Calculator) Thursday 8th June 2017
	1
	A
	6458 to the nearest 100 is 6500

	1

	1
	B
	The line is pointing at168

	1

	1
	C
	7.2  is first unmarked line after 7

	1

	2
	A
	(2,1)

	1

	2
	B
	(0,5)

	1

	2
	C
	(1, 3)

	1

	2
	D
	Point C is at (4,3)

	1

	3
	
	£200 to spend on calculators puts the number of calculators in the 30-99 category.

200 ÷ 3.65 = 54.8

54 calculators can be bought for £3.65 each totalling £197.10

	3

	4
	A
	P(even) = ½

	1

	4
	B
	P(less than 10) = 1

	1

	4
	C
	P(greater than 6) = ¼                                             7 or 8 on the dice

	1

	5
	A
	Diameter is 4.7cm on my photocopied exam paper. It might have been 5cm on the original paper.

	1

	5
	B
	[image: Image result for gcse maths sector]

	1

	5
	C
	The line is a chord

	1




	6
	
	Soup, Pizza    Soup, Lasagne   Soup, Risotto    Soup, Fruit    Soup, Cheesecake

Melon, Pizza    Melon, Lasagne    Melon, Risotto    Melon, Fruit    Melon, Cheesecake

10 combinations

	2

	7
	
	Lift reaches top of tower after 1.75 mins (1min 45sec)
It gets back to the top of the tower every 3.5 mins thereafter

16 x 3.5 + 1 x 1.75 = 57.75 mins.

17 times to the top of the tower within 60 mins with 10 people each trip = 170 people transported.

This is less than 200, so Liz is wrong.

	4

	8
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	2

	9
	
	768 ÷ 56 = 13.7 so 14 buses are needed.

749 ÷ 56 = 13.38 so 14 buses are still needed.

	3

	10
	
	Draw an accurate, fully labelled dual bar chart.

	4

	11
	A
	09:27 is the latest train.

	1

	11
	B
	09:35 + 50 mins = 10:25. This is 12 mins late.

	2

	12
	A
	2x = 24 so x = 12

	1

	12
	B
	y ÷ 3 = 15 so y = 45

	1

	12
	C
	3n + 12 = 60            3n = 48                  n = 16

	2




	13
	
	Perimeter of equlaiteral triangle with side of 10cm = 30cm.

Opposite side of the rectangle are both = 11cm so shorter 2 sides must add up to 8cm

8cm ÷ 2 = 4cm so the rectangle is 4cm wide.

	3

	
14
	A
	6 is in the list three times so it is the mode.

	1

	14
	B
	2  3  4  4  5  6  6  6  7  9

Median is 5.5

	2

	14
	C
	Range is 7

	2

	
15
	A
	Trapezium

	1

	15
	B
	Split into 2 right angled triangles. 1 x 4 and 3 x 4
2cm2 + 6cm2 = 8cm2

	2

	15
	C
	An accurately drawn reflection of thr trapezium in the mirror line.

	2

	16
	
	14ft x 12inches = 168inches. 168 + 4 = 172.

172 x 2.54 = 4.3688

This is less than the 4.4m height limit.

	3

	17
	
	£9.68 x 0.65 = 6.29

Answer: £6.29

	3

	18
	
	11:20 to 11:30 is 10 mins

Arrives home at 11:57. 11:30 to 11:57 is 27 mins.

Journey out took 20 mins. Journey back took 7 minutes longer.

6km out, 6 km back = 12km total.

	1



2

1




	19
	
	2/3 of £87 = £58.   £58 x 2 = £116.

Excess mileage above 250 = 150 miles.
150 x £0.15 = £22.50.        2 days @ £44 = £88

Total £110.50.         Vans for hire is cheaper.

	5
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20
	
	2/5, 0.405, 41%, 3/7, 0.45

	2

	
21
	A


		X
	-1
	0
	1
	2
	3
	4

	Y
	5
	4
	3
	2
	1
	0



	2

	21
	B
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	2

	22
	
	How many times a week do you travel by train?

4 or more non-overlapping response boxes that allow a full range of numeric responses from zero upwards.The final box should be open-ended.

	2

	
23
	
	If 30% are female, 70% must be male. 

70% of total = 1295. 
1295 ÷ 70 x 30 = 555 so 555 must be female.

	3




	24
	



		£
	SFr
	Euro

	1
	1.39
	1.27

	115
	159.85
	146.05



The boots are cheapest in London.

	3

	25
	A
	Positive correlation

	1

	25
	B
	Draw a LoBF

From 21cm on the y axis across to the LoBF then down to the x axis gives a value of about 18-19 years.

	2

	26
	
	23 x £24 = £552

Season ticket = £425 so the saving is £127

127 ÷ 552 x 100 = 23.01.

Answer: 23%

	3




	27
	
	AC = square root (11.72 + 19.32)

22.57cm

Answer: 22.6cm

	3

	28
	
	Gemma and Betty each have x sweets
After Gemma gives 24 to Betty, they each have x – 24 and x + 24

x + 24 = 5(x – 24)                   now expand brackets and solve
x + 24 = 5x -120
       24 = 4x – 120
     144 = 4x
       36 = x

If they had 36 sweets each at the start, their total between them was 72 sweets.

	4

	
29
	
	½ of the circumference of the smaller circle: ½ x Pi x 5 = 2.5Pi
½ of the circumference of the larger circle: ½ x Pi x 9 = 4.5Pi
Add 2 x 2m makes a total of 7Pi + 4m

7Pi = 22.      22 + 4 = 26 so the total length to be edged is 26m.

2.4m per roll so 11 rolls are needed.

3 x 3 rolls plus 2 individual rolls

£30 + £7.98 = £37.98 so Brian does not have enough money.

	5
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